Test for Identification for Slow and Advance Learners in r/o Department of

Economics

BA |

Shree Guru Gobind Singh Ji Government College, Paonta Sahib

Distt- Sirmour, H.P.

Details Regarding of Identification of type of Learner for the Session 2021-22

Class: B.A. I Economics
Class Roll Marks Advanced/Medium/
Sr. No Name of Student e Obtained Percentage Slow- T easvaer:
1| RAMAN KUMAR 21502017 26 52.00 Slow
2|SACHIN SHARMA 21502023 S 54.00 Slow
3[ISHITA KASHYAP 21502028 19 38.00 Slow
a[TANUIA 21507001 33 66.00 Medium
S5IMADHUMITA 21507002 30 60.00 Medium
6|SALOONI 21507003 35 70.00 Medium
7|SUMAN SHARMA 21507004 28 56.00 Slow
8|SURESH 21507005 27 54.00 Slow
S|SUSHEEL KUMAR 21507006 32 64.00 Medium
10| KESHWAL MITTAL 21507007 32 64.00 Medium
11 |SHUBHAM CHAUHAN 21507009 27 54.00 Slow
12| AMBIKA 21507010 31 62.00 Medium
13|[JAGDEEP SINGH 21522006 22 44.00 Slow
14| KANISHKA SHARMA 21522008 31 62.00 Medium
15|ROHAN 21522016 26 52.00 Slow
16| DEVENDER SINGH 21522019 7 54.00 Slow
17|HITESH SHARMA 21529003 24 48.00 Slow
18|PRIYANSHU 21529004 29 58.00 Slow
19|HARSH 21534006 34 68.00 Medium
20| MALIKA CHAUHAN 21534015 33 66.00 Medium
21 |NEHA 21534019 257 54.00 Slow
22| TEJASWI SHARMA 21534021 34 68.00 Medium
23|HARPREET SINGH 21534023 j o 38.00 Slow
24| PRIYANSHU SAINI 21534027 26 52.00 Slow
25|MANJEET KAUR 21554002 25 50.00 Slow
26| RAHUL CHAUDHARY 21554007 23 46.00 Slow
27| RITIKA 21554008 26 52.00 Slow
28|SUNITA 21554015 26 52.00 Slow
29|SHAYRA PARVEEN 21554017 22 44.00 Slow
30|KAJAL 21554019 25 50.00 Slow
31 |KRITIKA 21559003 26 52.00 Slow
Summary Report
1 Number of Advanced Learners Identified Nil
2 Number of Medium ILearners Identified 10
3 Number of Slow Learners Identified 21
Total Number of Students 31
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Shree Guru Gobind Singh Ji Government Colle
Distt- Sirmour, H.P.

ﬁe, Paonta Sahib

Details Regarding of Identification of type of Learner for the session 2021-22

Class:| B.A.IInd Year Subject: ECONOMICS
Class Roll |Marks Advanced/Medium/
Sr. no |Name of Student |Number |Obtained |Slow Learner

1|Kajal 20507001 24|Slow
2|Sakshi 20507002 24|Slow
3|Ritesh 20507003 28|Slow
4|Sarita 20522001 19|Slow
5|Nidhi devi 20522002 24|Slow
6|Pankaj 20522005 19|Slow

7| Vishal Sodi 20522006 20|Slow
8{Dev kumar 20522007 19|Slow
9|Shiv kumar 20522008 18|Slow
10|Pankaj 20522009 26|Slow

11| Amit kumar 20522011 23|Slow

12| Amit 20522012 25|Slow
13|Tina 20522014 22|Slow
14|Priya chauhan 20522015 30|Medium
15| Ankur chauhan 20522017 22[Slow

16| Aryan 20529001 25|Slow
17]|Ashik khan 20529003 20|Slow

18| Anshul Sharma 20533035 25[Slow
19|Sandhya sharma 20534001 19(Slow

20|Gurvinder singh 20534002 26(Slow

21|Kriti chauhan 20540001 37|Medium

22|Priti dhiman 20540002 19|Slow

23 |Priyanka tomar 20540003 35[Medium

24|Manish 20540004 40| Advanced

25|Pinku sharma 20540006 27|Slow

31|Shivani 20559005 24|Slow

Summary Report

1|Number of Advanced Learners Ide 1
2|Number of Medium Learners Ident 3
3|Number of Slow Learners Identifie 27

Total Number of Students 31
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BA Il

Shree Guru Gobind Singh Ji Government College, Paonta Sahib
Distt- Sirmour, H.P.
Details Regarding of Identification of type of Learner for the session 2021-22
Class: BA 3rd Yr pject: Eonomics
Advanced/Ave
Sr. no Name of Student Ci\l;:::ﬂl}::l ()I:)I::i-::d Percentage rage/Slow
Learner
1|Praveen Kumar 6001 28 56|Slow
2|Kartik 6004 22 44|Slow
3|Divyanshu Sodhi 6005 17 34|Slow
4|Muskan Begam 6007 29 58[Slow
5[Mahima 6008 23 46|Slow
6|Abhinam Attri 6009 27 54|Slow
7[Sanjna 6011 22 44|Slow
8|Abhay Sharma 6013 19 38|Slow
9|Deepak 6014 16 32|Slow
10|Naseema 6015 33 66|Average
11 |Lakshmi Devi 6019 26 52|Slow
12| Aditi 6020 24 48|Slow
13|Anjali Kondal 6021 14 28|Slow
14|Reeta Devi 6022 38 76| Average
15| Ankita 6023 37 74| Average
16[Yash Kumar Tomar 6024 23 46(Slow
17|Sahina 6026 21 42|Slow
18[Suman Kumari 6027 24 48|Slow
19|Priya 6028 13 26|Slow
20| Avantika Saklani 6029 26 32|Slow
21 |Mohini Chauhan 6030 3 62| Average
22|Sunaina 6033 34 68| Average
23 |Gagandeep Singh 6035 20 40|Slow
24| Anshika Pundir 6036 34 68| Average
25|Saravjeet Singh Saini 6038 17 34|Slow
26| Aarzoo 6043 19 38|Slow
27|Rohit 6541 25 50|Slow
28| Tushar Pundir 6552 22 44|Slow
29|Kaushal Kumar 7053 22 44|Slow
30|Priyanka 8536 16 32|Slow
31|Sanjay Sharma 8558 29 58|Slow
32|Rohit Kumar 9032 21 42[Slow
33|Preeti Negi 13505 36 72| Average !
34|Jyoti 13507 30 o0 Aver .
mmary report ] TR, Vs -
1|Number of the Advanced Learner identified e“/ \fqgi ﬂi\ B
2|Number of the Avarage Learner identified | [ Dr. MOMAN SINGH CHAUHAN
3|Number of the Low Learner identified 2 528 g:rn:e"l’;:]m Gobind Singh Ji
Total no. of the Students Government College
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MCQs for Identification of Slow and Advance Learners

BAII

SGGSJ GOVT. COLLEGE PAONTGA SAHIB
MCQ PAPER
(IDENTIFICATION OF SLOW AVERAGE AND ADVANCED LEARNER)

CLASS:- BA 2nd Sub-Economics
TIME 1 Hrs MM 50

MARK THE SIGN OF +~~ ON RIGHT ANSWER

ROLL No.

1 Macroeconomics is concerned with:

(a) General Price Level (b) National Income ( C) Total Employment (d) all of these
2 The main cause of unemployment, for Keynes, was the deficiency of
(a) aggregate demand (b) aggregate supply  (c)c ption di (d) ir penditure
3 GNP at Market Price is
(a) GDP at MP - Depreciation (b) GDP at MP + NFIA  (c) GNP at MP + Subsidies (d) none of these.
4 Personal disposal income is
(@)c+1 (b)C+S (C)C+1 (d)none of these
5 Which of the following is a leakage ?
(a) Saving (b) Income ( ¢ ) Govt. Expediture  (d) All of these
6 Value of output is

(a) Sales + Change in stock (b) Sales - Change in stock ( C ) none of these
Real national income refers to
(a) National income at current prices (b) national income at constant prices

~

8 Profitis
(a) Dividend + Corporate tax (b) Dividend + Corporate tax + Undistributed Profits ( ¢) Dividend + undistibuted profit
9 From among the following, who is a claasical economist?
(a) A.C. Pigou (b)J.B.Say (c)Js. mill (d) All of these
10 Demand for labour is a function of
(a) Supply of labour (b) real wage rate ( c) price level (d) none of these
11 Equilibrium in the classical model is achieved at
(a ) Full employment level (b) Under employment level none of these
12 Real wage is
(a) Money wage/Price Level (b) Price/Money Wage (3) None of these
13 As per the claasical theory, production is a function of
(a) Labour (b) Technology ( ¢ )capital (d) all of these
14 Says's law of market states that
(a) supply creates its own demand (2) demand creates its own supply (C) all of these
15 For classical, money performs the function of
(a) medium of exchange, (b) store of value (c ) both (a) and (b) (d) none of these
16 For keynes, money performs the function of
(2) medium of exchange, (b) store of value (c) both (a) and (b) (d) none of these
17 For keynes, saving is a function of
( a ) rate of interest ( b) income (c ) none of these
18 For classical, saving is a function of
(a) rate of interest ( b) income (c) none of these
19 For keynes, equilibrium in the economy can occur at
(a) full emloyment level (b) more than full employment level (c) less than full emloyment level

(d) all of these
20 Effective demand can be increased by increasing

( a) consumption (b) saving (c)investment (d) both (a) and (b)
21 Marginal productivity of disguised unemplyed labour is
(a) zero (b) positive (c ) zero or even positive (d) zero or even negative

22 Investment, for Keynes, depends on
(a) MEC (b) rate of interest (c) both (a) and (b) (d) none of these

23 MPCis

(a)y/C (b) change in C/Change in Y ( ) change in Y/change in C (d) none of these
24 Consuption is a function of

(a) saving  (b) income (C)time (d) none of these

25 Saving is equal to
(a) Y4C (B)Y-C  (c)Y+  (d)Y-
26 Autonomous investment depends on

(a) income (b) profit ( c) rate of intrest (d) none of these
27 Induced investment is a function of
(a) income (b) profit (c) rate of intrest (d) none of these
28 Gross investment is the sum of net investment and
(a) induced investment (b) replacement investment ( ¢ ) autonomous investment (d) none of these
29 Multiplier and MPC are
(a) directly related (b) inversely related ( ¢ ) not related (d) none of these
30 Multiplier is equal to
(a) 1/MPS  (b) 1/1-MPC (c) change in Y/Change in | (d) all of these

31 If MPS is 0.2, then value of K is
(a)4 ()5 (c)o.8 (d1



32 Which of the ing is nota
{a) saving  (b) Import

33 Accelerator refers to
(a) change in Y/change in |

of the iplier?
[ ¢ ) inflation

(a) accelerator (b) multiplier
35 Samuelson trade cycle theory is based on
(a) accelerator (b) multiplier
36 Business cycles are related with
(a) income {b) employment
37 A trade cycle has
(a) one phase
38 Value of money is
(al1/P (b)p (chi/m
39 Fisher's equation of exchange is
(a) MV=PT (b) PT= MV+M"V"
40 M=KPT equation is given by
Irving Fisher (b) Robertson
41 Quantity of money and value of money are
{a) directly related (b) inversely related
42 Supply of money is equal to
(a) Notes + Coins (b) Notes + Coins + Time Deposits
43 For Keynes, relation between money and prices is
(a) direct  (blindirect { ¢ ) negative
44 For classical, relation between money and prices is
(a) direct (b)indirect ( ¢ ) negative
45 Velocity of money depends on
() Price level (b) habit of the people

(c) prices
(b) two phases
(d) none of these
( c )M=KPT

{ C) Pigou

(b) change in I/change in Y
34 Increase in autonomous investment will lead to multiple increase in income due to the working of
{ ¢ ) consumption

( ¢ ) multiplier-accelerator interaction

{ ¢ ) three phases

(d) export

{ c) change in Y/change in C {d) none of these
{d) none

{d) none of these

(d) all of these

(d) four phases

(d) none of these
{d) Marshall

{ ¢ ) not related (d) none of these

{ € ) Notes + coins + Demand Deposits (d) none of these
(d) positive

(d) positive

{ ¢} frequency of income received (d) only (b) and (¢}

46 In keynesian theory of money and prices, the initial impact of change in money supply is on

(a) prices  (b) rate of interest { C) investment
47 The instruments of monetray policy are
(a) bank rate (b) CRR
a8 les of built-in ilizers are
(a) progressive taxation
49 For classicals, in equilibrium
(a)s=fir) (b)i1=flr) (c)s=t
50 Says's law of market operates in
(a) competitive economy

{d} all of these

( C ) open market operations

(bjunemplyment insurance

{b) socialistic economy

(d) aggregate demand
(d) all of these
(c ) regressive taxation

(d) both (a) and (b)

{ € ) monopoly (d) none of these



BA Il

SGGSJ GOVT. COLLEGE PAONTA SAHIB

MCQ PAPER ‘
(IDENTIFICATION OF SLOW, AVERAGE AND ADVANCE LEARNER)
Class : B.A 3rd Subject:- Economics Class RoliNe ]
TIME 1hrs MM SO

Fre— T gvHl @ 3 GHE 2 98 9a¥ W) s BT O e |
Q.N. 13=EE =M & @Far sifsum 8 7
(a) 2N @ Hed AATI R SMETT 9EET |
(b) 2EN = Wed GAC! =T S T |
(c) <=0 = Wem fHS9T =1 SWeET 9erT |
(d) ==0 = Head SEgAl @1 e 9@ |
Q.N.2 =29 =R & = JfvHa=m § 7
(a) T FW T TEK T D AT SR |
(b) T 23 = faza & @@t W & WY =GR |
(C) U= 2T =T 9 A IW T OGNS H FER AUR |
(d) ue T30 T HAIT T FH ARG H TEW TR |
Q.N.3 fp=fafaa % ¥ i -a1 905 (T8e) F=RIEE SAHR h THItEE Wi e & 7
(a) OrEfos A@TEE |
(b) =efert e |
(c) “ro=ifees Fifea |
(d) J=ares @n T |
Q.N.4 fafsrsdt =791 (Specialisation) & =T gy & 7
(a) FW A F= I FH AN FH A o SR E P IuT At Jewss e s 2
sifer= I=ames =1 i o sar 2
(b) == =1 3= 2= @ AT faar sEw #
(c) TE¥ 2 | HHEI W FW W IR IR IO ERT B A ST A N Iw vy
=1 A e
(dy h%aﬁﬁmaﬂmmﬁimm%ﬁr%mﬂﬁnhmi
Q.N.5 s fasirsi= (Division of Labour) =T IeaTa= T U¢ AT 9HIS qeew & 7
(a) I=E" A@ETT 9 Bl W B |
(b) IearE= = 3HfuE B w2
(C) IeaTET ANTH 9T THIE THE FE 92A 2 |
(d) 390 | | =g T8 1
Q.N.6 F=RTg =R =1 fera sFaaga geam 3R B e wew # 2
(a) 9T T @9 (UNO)
(b) =T #tEla | (IMF)
(c) &g =R |sT (WTO)
(d) farsar &F=F (World Bank)
QN?WW(Fectorimmobnhty)awmg ?
(a) IeaTET W T UE T A 3G T W S A i e e e B
(b) Seuresr & Wiu, TE TAN ¥ 39 UM W s 98w on wwe # e
(c) T=ame= & WAl UH T T AT | TAEiae A S awan # 6
(d) =udrms o & =g =8
Q.N.8 =i =Mr & ge-reas anrd e @ afaares e fem - ?
(a) w=s e .
(b) =fa= femrEt o
(c) = wa Fr=
(d) wreEs



Q.N.9 sy AR IeareT T ¥ e =R (Absolute Difference in cost) # &R
aren 2 7w fomER fF seforedt & g fear o
(a) . va @« |
(b) = Rt
(c) w== f&ra
(d) U |
Q.N.-\10ga=nﬂa€wmﬁ7m=a% SER THAE IR @ AU R A Ya i ?
(@) ¥ (Land)
(b) == (Labour)
(c) gt (Capital)
(d) === (Entrepreneurshlp)
Q.N. 113 =R & s e (classical Theory) % TRas qwra L 0 QU
AT TR
(a) @FRTHF (Positive)
(b) =RI=E (Negative)
(c) =e#a (Neutral)
(d) == (zero)
Q.N.12 =g =mr & stafe fa@@ (Modren Theory) & ufarer fra it &
g1 e T 2
(a) HNUH, Fl (oM. Keynes)
(b) Fawut- et (Heckscher-Ohlin )
(c). feamfa® (Leontief)
(d) ®=we (Habourlor)
Q.N.13 3FTR - e (H-0) gt & FFAR 3 2 B Ao T FAR B 21
(a) ¥R (Tastes)
(b) Afr ewan (Military Capability )
(c) =R (Size)
(d) Ieame @ @iu &1 Iueral (Availability of factor of Production)
Q.N.14 s5f 9= F6q¢ (Labour Intensive goods ) & 2 2 e ST H -
(a) ToU ST ST SH HI syl At Bt
(b) s e TS F ST S B #
(c) g5t F s 5 W F WA N ST B
(d) Sira= ® & T o 78
Q.N.15 fAFET B (Leontief Paradox) T SATIR & fra R
& @IS Hdl B 7
(a) FoTeRE @RS Taar= |
(b) ame T fFae |
(C) TR - steee (HO.) fasw
(d) Ioe | |



Q.N.16 foamreie fadesm st ar a8 7 -
(a) SRR T ol WRT I B | TAT ToN TU Fegh w1 Pl wew #
(b) SRIRET T ToTt GFIT 39 2 TAT S T TGN o Al e # 1
(c) ~ IR T 5 WEOT 3T B TAT Yo T TG 1 e e @
(d) Iwrad ¥ | FIE A |
Q.N.17 FEH AR & TERAE FEras 5ok ANR S Sear X I I W
oI B # o
(a) =™ 1
(b) =¥ |
(c) W= A |
(d) ST ¥ A FE A
Q.N.18 @& @vE (opportunity Cost) & = A9 # 1
(a)xm;ﬁmmﬁa&rmﬁvm@%@mﬁﬁ«m{ﬂmﬁmw
AT B |
(b) X I I 98 AT [STEaH1 ITHT FH A Y TR W HE I T8 9= |
(c) TwiEd 2 |
(d) FwvE ¥ ¥ =g T
Q.N.19 & &R (Free Trade) & =T 3R 2 |
(a) e @ AT FT M F @ W F [oT A @ w9 i e aww 2
(b) == 7 s & I 7 i W R aw A a8 T e ?
(c) = FmA & smaw 7 Fafa w =
(d) ST w4 |
Q.N.20 5= sidegae (closed Economy) & =T 3ifvwama & 1
(a) W srferaean s 2 & 3 & @y AIRE # 1
(b) ¥ srfermen fored ¥t 39 @ A9 R B # )
(c) ¥ srfemaen e faga & & ff 39 & @y =R =8 B ?
(d) 3w & | = 3 A&
Q.N.21 o= fafme gomelt & s/ sifvma 2 7
(a) ¥ Tafmg vomeh s 1 & wregw | aeg it @der an I e # 1
(b) ¥ fafema omeh fomd g @ wieaw | T ® @de A I e # o
(c) ¥ fafrm womsh fomdt fRslies wezm ¥ aegall =t @ e a1 ¥ wew #
() IR A A WE
Q.N.22 =z (Dumping) & =T FI™ # |
(a) v fardl F¥a-l B0 3 39 H 9§ @ FRE W T UL oW X AR d W AW
I i I & S #
(b) v fardl &+t g1 30 A F FEd FAR G T W W X TR T W A
Il & et &t S ?
(c) IR A |
(d) S 2 T |



Q.N.23 =mR it 7 (Terms of Trade) ¥ =T iftvaw 2
: r(a)wwaa%mhr%ﬁawwéw%aﬁaimmh%w@ﬁ%m
- Tafer ferar s 2
(b) 7€ a5 Wl B B Fo MR W AR A e T e 2
(c) I I
- (d) SREE A A FE T
Q.N.24 =R =it 3@ 719 (Income Terms of Trade ) =Y 7T favar = wame 2

(a) Tc=-g—%
(b) TQ=8M

(o) ™= ERE
(d) Ty= %—x Fx
QN.25 afe s 3t 9= aret Tl ot i Faf 9wy a3 sen sfw 72 e
T IR F o (Terms of Trade) W ST 4T YNIE T/ |
(a) GUR BRN (Improved)
(b) = FE (Can't be Judged)
(c) .ue B (Deteriorated)
(d) snfrE gur (Paretically Improved )
Q.N.26 fo= % & form wwa & ofy =fe s i 2 2

(a) M3
(b) wama
(c) e w2w
(d) @
Q.N.27 wra ¥ siftraer foraw agq 704 2 9o 39S T O e uw 2w d 0 a9
Y s+ 7 |
(a) |& (b) =T
Q.N.28 = & gur @ T Ff i A R wy D g wewE #
(a) & (b) &
Q.N.29 v @ geen sffaw (NFsc) @i e af sy fmar mar ?
" (a) 2012 (b) 2013 (c) 2014 (d) 2015
Q.N.30 = # ¥ %7 -1 w31 @ FERY Ao (DBTS) W I B 7
(a) FN B TEHERT W g
(b) g =Y =1 g BT
(c) wmafe =g % =9

(d) S ot



QIN.31 frer ¥ 3 i Friem = 33w == 78 7 1
(a) snfi=w fawm
TR (p) e FEEE
(c) sufe Feoran
(d) Imemmfowen faenmE
Q.N.32 ¥RE ¥ Ao AT S A DT HE AT |
(a) Tegaf
(b) e
(c) o= 5=
(d) TEF=
Q.N.33 @0 weevE & sEr ufafeT el S ¥ w9 S e w P
Y @y =fea o oA :
(a) 2400 WEIT I 2100 WED &F H
(b) 2100 UFEU A 2400 WED EA A
(c) 1700 WEiYT @ 1800 WED &A A
(d) 1800 TRV & 1700 TEQA & A
Q.N.34 fr 3 @ fara Foneieen &1 qemTensn (HUar St e S ?
(a) P fredean
(b) amer foreiern
(c) =t
(G T8 =8
Q.N.BSﬁﬂﬁ%ﬁﬂ—ﬁﬂﬁ%ﬁm%W@f%m%?
(a) Sgmae aff
(b) ¥ A |fafa
c) @eree afafa
d) I9daT # | wIE TE | _
Q.N.36 firet ¥ & @i a1 AT =1 weT 9Rd F 76 2 7
(a) I AR
(b) srgva FAT
c) FEAE! AT
d) farfer AReEm
Q.N.37 sra ¥ g &= ¥ siftres Ao Iuee & 7
(a) EOfE &=
(b) ETfEs &=
(c) W &
(d) ¥ &=



Q.N.38 ¥Ra &R g AR & F | S AsWR R @ Tore T e
1 genfer forar wman & 7

(a) MNREGA (b) Food Security Act (c) NREM  (d) SR
Q.N.39 $Ra # ST & G H FROT 1B 7

(a) sFEEn =1 Sifus B

(b) wEiirERTo

(c) =R 3R =Y AR *1 9HT

(d) IwEE w

Q.N.40 =a=a & g RIE JFaawar O A

(a) nfFEE (b) sreafaefam

(c) & gwaardt  (d) IwiEE @i
Q.N.41 &gﬁmmﬁﬁmmﬁnﬁ )

(a) 1600 %0 (b) 1610 o (c) 1700 %0 {d) 1710 %o
Q.N.42 form g& & =wor wwa &1 TmatEe e S siea st ¥ R wwer ol

¥ EEAwEa B I o

(a) 1757 &1 =¥l g€ (b) 1764 =1 aFET q&

(c) 1764 =1 9w 3@ (d) 1857 =1 gg
Q.N.43 sRra &t @ s =% Ff

(a) =r=aw (b} awet - & -

(c) Rm=x {d) s )
Q.N.44 st spfswaear v fsiE | Taraer 2 | 3o A9 9 2 S vE Reer ®

WA B FT TR G B

(a) Frt & (b) FrfsifE A

(c) Bt @ wdwfam &3 (d) IwEa ¥ 4 @i 8 wn
Q.N.45 wra # 999 q=adia GEa § FE 6] &

(a) 1947 (b} 1950 (c) 1951 (d) 1952
Q.N.46 e wifts @ wogel & Saw vra @ ¥ e veadia dreen @ oy R @
(a) 10 {by n (c) 12 (d) 13
Q.N.47 wwa § A s 1 wagen g ad =7 @t
(a) 2014 (b) 2015 (c) 206 (d) 2017
Q.N.48 ify smnr &) wurgen foFe smamr & = WSt
(a) drerr Fmam (b) T ST FwnT

(c) v fpm @ (d) IREE A A w1 T
Q.N.49 f=fafea 3 F w9 - ﬁ%ﬁaﬁ?ﬁﬁwmmmﬁ1

(a) Jardror (b) e (c) Avdraor (d) =%

Q.N.50 wra # 1991 = 5@ 7€ snfder Ay Fr Wy fear w, S fare A W W
(a) wfEET ~*(b) @10 TR fiE
C) S HeEsi (d) #e= fe swmaafomr
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